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Fourier Series: 𝐿2 Convergence and Parseval’s Identity- HW Problems 

 

1.    Use Parseval’s identity on the Fourier series for                              

                             𝑓(𝑥) = 𝑥;  −𝜋 ≤ 𝑥 < 𝜋 

       (See problem 3 in the previous HW set) to find ∑
1

𝑛2 .∞
𝑛=1  

 

2.    Use Parseval’s identity on the Fourier series for                          

                                𝑓(𝑥) = (𝜋 − 𝑥)2;    0 ≤ 𝑥 ≤ 2𝜋 

       (See problem 5 in the previous HW set) as a way to find   

         ∑
1

𝑛4 .∞
𝑛=1  


